
𝑡 𝑡 −
1 𝑡 𝑡 − 1

𝑡 𝑡 − 1
𝑡 𝑡 − 1

 



ε

ε

𝑡 𝑡 − 1
𝑡 𝑡 − 1

 

 

 

 



𝐴𝑡𝑡𝑒𝑛𝑡𝑖𝑜𝑛(𝑸,𝑲, 𝐕) = 𝑠𝑜𝑓𝑡𝑚𝑎𝑥 (
𝑸𝑲𝑻

√𝑑𝑘
)𝑽

𝑠𝑜𝑓𝑡𝑚𝑎𝑥(𝑥)𝑖 =
𝑒𝑥𝑖

∑ 𝑒𝑥𝑖𝑛
𝑖=1

𝑑𝑘
𝑥𝑖

𝑥 𝑥 𝑥

𝐹𝐹𝑁(𝑥) = max(0, 𝑥𝑾𝟏 + 𝑏1)𝑾𝟐 + 𝑏2

𝑅𝑒𝐿𝑈(𝑥) = max⁡(0, 𝑥) {
𝑥, 𝑗𝑖𝑘𝑎⁡𝑥 ≥ 0
0, 𝑗𝑖𝑘𝑎⁡𝑥 < 0



𝑾𝟏,𝑾𝟐 𝑏1, 𝑏2 𝑥

𝜀 𝜉⁡ 𝜉∗

⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡𝑓(𝑥) = 𝑾𝑻𝜑(𝑥) + 𝑏⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡

𝑾 ℓ 𝜑(𝑥)

ℓ 𝑓(𝑥)

𝑓 𝑾 𝑏

𝑅(𝑓(𝑥)) =
1

2
‖𝑾‖2 + 𝐶 ×

1

𝑛
∑ 𝐿𝜀(𝑦𝑖 , 𝑓(
𝑛
𝑖=1 𝑥𝑖

∑𝐿𝜀(𝑦𝑖 , 𝑓(

𝑛

𝑖=1

𝑥𝑖)) = ⁡ {
0, |𝑦𝑖 − 𝑓(𝑥𝑖)| ⁡≤ ⁡𝜀

|𝑦𝑖 − 𝑓(𝑥𝑖)| − 𝜀, lainnya

𝐿𝜀 𝜀 𝑦𝑖 ⁡ 𝑓(𝑥𝑖)

𝜀

𝑓 ± 𝜀

𝜉𝑖 𝜉𝑖
∗

⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡min
1

2
‖𝑾‖2 + ⁡𝐶 ×

1

𝑛
∑ (𝜉𝑖 +
𝑛
𝑖=1 𝜉𝑖

∗)

𝑾𝜑(𝑥𝑖) + 𝑏 − 𝑦𝑖 ≤ 𝜀 + 𝜉𝑖
∗

𝑦𝑖 −𝑾𝜑(𝑥𝑖) − 𝑏 ≤ 𝜀 + 𝜉𝑖 𝜉𝑖 , 𝜉𝑖
∗ ⁡≥ 0, 𝑖 = 1,2,… , 𝑛

𝐿(𝑾, 𝑏, 𝜉𝑖 , 𝜉𝑖
∗, 𝑎𝑖 , 𝑎𝑖

∗, 𝛽𝑖 , 𝛽𝑖
∗) =

1

2
‖𝑾‖2 + ⁡𝐶 × (∑(𝜉𝑖 +

𝑛

𝑖=1

𝜉𝑖
∗)−∑𝛽𝑖[𝑾𝜑(𝑥𝑖) + 𝑏 − 𝑦𝑖 + 𝜀 + 𝜉𝑖

∗]

𝑛

𝑖=1



−∑𝛽𝑖
∗[𝑦𝑖 −𝑾𝜑(𝑥𝑖) − 𝑏 + 𝜀 + 𝜉𝑖] −∑(

𝑛

𝑖=1

𝑎𝑖𝜉𝑖 + 𝑎𝑖
∗𝜉𝑖

∗)

𝑛

𝑖=1

𝑤, 𝑏, 𝜉𝑖 , 𝜉𝑖
∗

𝑎𝑖 , 𝑎𝑖
∗, 𝛽𝑖 , 𝛽𝑖

∗

𝜕𝐿

𝜕𝑤
= 𝑾−∑(

𝑛

𝑖=1

𝛽𝑖 − 𝛽𝑖
∗)⁡𝜑(𝑥𝑖) = 0,

𝜕𝐿

𝜕𝑏
= 𝑾−∑(

𝑛

𝑖=1

𝛽𝑖 − 𝛽𝑖
∗) ⁡= 0,

𝜕𝐿

𝜕𝜉
= 𝐶 − 𝛽𝑖 − 𝑎𝑖 = 0,

𝜕𝐿

𝜕𝜉∗
= 𝐶 − 𝛽𝑖

∗ − 𝑎𝑖
∗ = 0,

𝐾(𝑥𝑖 , 𝑥𝑗) = ⁡𝜑(𝑥𝑖)𝜑(𝑥𝑗)

𝐾(𝑥𝑖 , 𝑥𝑗) = exp(−⁡
‖𝑥𝑖 − 𝑥𝑗‖

2

2𝜎2
),

𝐾(𝑥𝑖 , 𝑥𝑗) = 𝑥𝑖 . 𝑥𝑗

𝜕(𝛽𝑖 , 𝛽𝑖
∗) =∑𝑦𝑖(

𝑛

𝑖=1

𝛽𝑖 − 𝛽𝑖
∗) − ⁡𝜀∑(

𝑛

𝑖=1

𝛽𝑖 − 𝛽𝑖
∗) −

1

2
∑∑(

𝑛

𝑖=1

𝑛

𝑖=1

𝛽𝑖 − 𝛽𝑖
∗)(𝛽𝑗 − 𝛽𝑗

∗)𝐾(𝑥𝑖 , 𝑥𝑗)

∑(

𝑛

𝑖=1

𝛽𝑖 − 𝛽𝑖
∗) = 0; 0 ≤ 𝛽𝑖 ≤ 𝐶, 𝑖 = 1,2,… , 𝑛 0 ≤ 𝛽𝑖

∗ ≤ 𝐶, 𝑖 = 1,2,… , 𝑛

𝛽𝑖𝛽𝑖
∗ = 0 𝛽𝑖 𝛽𝑖

∗

𝑾=∑(

𝑛

𝑖=1

𝛽𝑖 − 𝛽𝑖
∗)⁡𝜑(𝑥)

𝑓(𝑥, 𝛽𝑖 , 𝛽𝑖
∗) =∑(

𝑛

𝑖=1

𝛽𝑖 − 𝛽𝑖
∗)⁡𝐾(𝑥𝑖 , 𝑥𝑗) + 𝑏

 𝑋0 𝑌0



 

𝑥𝑖 =⁡𝑋0 +𝑅𝑎𝑛𝑑𝑜𝑚⁡𝑉𝑎𝑙𝑢𝑒
𝑦𝑖 =⁡𝑌0 +𝑅𝑎𝑛𝑑𝑜𝑚⁡𝑉𝑎𝑙𝑢𝑒

𝑖⁡𝜖⁡{1,… , 𝑛 − 1, 𝑛}
 𝐷𝑖𝑠𝑡𝑖

𝑆𝑖

𝐷𝑖𝑠𝑡𝑖 = √𝑋𝑖
2 + 𝑌𝑖

2

𝑆𝑖 ⁡=
1

𝐷𝑖𝑠𝑡𝑖

 𝑆𝑖 𝑆𝑚𝑒𝑙𝑙𝑖

𝑆𝑚𝑒𝑙𝑙𝑖 = 𝐹𝑖𝑡𝑛𝑒𝑠𝑠⁡(𝑆𝑖)

 

𝑆𝑚𝑒𝑙𝑙𝑖

[𝑏𝑒𝑠𝑡⁡𝑠𝑚𝑒𝑙𝑙, 𝑏𝑒𝑠𝑡⁡𝑖𝑛𝑑𝑒𝑥] = max(𝑆𝑚𝑒𝑙𝑙𝑖)

 

𝑆𝑚𝑒𝑙𝑙𝑏𝑒𝑠𝑡 = 𝑏𝑒𝑠𝑡𝑆𝑚𝑒𝑙𝑙
𝑋0 = ⁡𝑋(𝑏𝑒𝑠𝑡𝐼𝑛𝑑𝑒𝑥)
𝑌0 = ⁡𝑌(𝑏𝑒𝑠𝑡𝐼𝑛𝑑𝑒𝑥)

 

 

MAPE = ⁡
∑ |𝑛𝑡 𝑦𝑡 − �̂�𝑡|

𝑛
× 100%

𝑦𝑡 �̂�𝑡

 



RMSE = ⁡√
1

𝑛
∑(�̂�𝑡 − 𝑦𝑡)

2

𝑛

𝑡=1

𝑦𝑡 �̂�𝑡

 

=⁡
𝑇𝑃 + 𝑇𝑁𝑡 + 𝑇𝑁

𝑇𝑃 + 𝐹𝑃 + 𝑇𝑁𝑡 + 𝐹𝑁𝑡 + 𝑇𝑁 + 𝐹𝑁

=⁡
𝑇𝑃

𝑇𝑃 + 𝐹𝑃

=⁡
𝑇𝑁𝑡

𝑇𝑁𝑡 + 𝐹𝑁𝑡

= ⁡
𝑇𝑁

𝑇𝑁 + 𝐹𝑁

 



𝑡
𝑡

𝑡 − 1
𝑡 − 1

𝑡
𝑡 − 1 𝑡

𝑡 − 1

𝑡
𝑡

𝑡 − 1
𝑡 − 1

𝑡
𝑡 − 1 𝑡 𝑡 − 1

 𝑡

 𝑡 − 1⁡

𝑡

𝑡

𝑡 − 1

𝑡 − 1

𝑡

𝑡 𝑡

𝑡 − 1



𝑡 − 1 𝑡

𝑡 − 1

 

 

 𝑡

𝑡 − 1
 ⁡𝑡

𝑡 − 1
 𝑡

𝑡 − 1

 𝑡
𝑡 − 1

 

 

 

 

 

 

𝜀 𝛾

𝜀

 

 

 

 

 

 

 

 



𝒕 𝒕 − 𝟏

𝑡⁡

𝑡 − 1

 

3 × 10−5

𝑡⁡ 𝑡 − 1

 

- 𝑡

𝑡⁡

- 𝑡 − 1

𝑡 − 1

𝑡

𝒕

𝒕



𝒕 − 𝟏

𝒕 − 𝟏

 



 

𝜺 𝜸

𝑡 𝑡 − 1

𝑡 𝑡 − 1

𝑡 𝑡 − 1

𝑡 𝑡 − 1 𝑡

𝑡 − 1 𝑡 𝑡 − 1



 

 

 




